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16U/104/15(Set-I)

No. of Questions : 180

U @ G ;180
Time :2 Hours ] [ Full Marks : 450
7Y 2 gu] [ qurfy: 450
Instructuion :
far -

This paper consists of Objective Type Questions and is divided into
Two Sections (I & II) as under -

Wm-wagﬁmmﬁmﬁa%mnﬂw@u@uwmww 2, Al
f& ) aftfg 2 .

(1) Section - I congists of 120 Objective Type Questions on General Awareness,

Mental Ability, Comprehension and Subject Awareness in some major
subjects.

(a)m-[ﬁlZOﬂ’gﬁ?ﬁ?&\-qngWW“ﬁTﬁ%ﬁWm@WﬂT 2
T vl & 519 W Ry & S

(2) Section - II consists of 30 Objective Type Questions on (I) English
Language and (I1) Hindi Language.

@) @S - 11 ¥ 30 sghweta g (1) shich WNSR (D) R W s 0w
amenRe & :
A candidate is required to attempt as many questions as he/she can of Section-

[, and Questions on ANY ONE of the TWO Language papers (1) English OR
(ID Hindi in Section - II.

mﬁﬁmﬁﬁ%w-lﬁmmﬁwiﬂﬂE~H$m#ﬁGﬁ
m(ll)%rqﬁwaﬁfﬁ&%mwﬁaﬁmﬁf

Note/dle: (1)  Each question carries 3 (Three) marks, One mark will be deducted

for each incorrect ansyper. Zero mark will be awarded for each
unattempteq question. |

WW3@W)WW%|WWBW$ '
mfm&ﬁﬁawwmwm; W.’W%‘m

3
(3) P.To
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1.

(2)  If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.
IR TEie Jefus It @8 SR @ fwe wid g df Feed W
SR ¢ |

(3  Each question is followed by Four alternative answers 1), ), 3
and (4). One of these answers is correct. Select the correct answer
and record it against the relevant question in the ANSWER-SHEET
by darkening the circle with Ball Point Pen as per guidelines.
TRE v @ R defeae S gea m E R @), 2, @) @ (@)
dadt @zt M 21 3 Q@ B (@ SR & G E| [ IH
qﬁﬁawma%ﬂaﬁw-qﬁmﬁmﬂﬁwﬁﬂmﬁ

mﬂﬁﬁﬁﬁ(ﬂaﬁ)ﬁmmﬁﬂmmm

SECTION - |
gus — |

According to Fisher's version of Quantity theory of money, total money supply

is expressed as:

'y - . M'V'+MV
(1) MV only (2) MV+M'V (3) M'V +MV ) =
Wfﬁjﬁl$QWﬁW$v;ﬁm$W‘@ﬁmﬁiﬁﬁmm
NI '3 : N
(1) &da MV (2) MV+M V 3) M'V+ MV’ @) M V;M\

A phenomenon of ‘coexistence of inflation and unemployment’ is termed as :

(1) Sticky prices (2) Inflation (3) Deflation (4) Staflation
wgﬁvmﬁﬂﬁﬁ%amwmﬂwﬁﬁ' T ST &, HESA ®
(1) sRimers Fd (2) Wi (3) el (4) PR T

The Cambridge equation differs from Fisher's equation in the sense that is :
(1) measures aggregate income rather than transactions

(2) measures transactions rather than aggregate income

(3) focusses on holding rather than spending money

(4) Focusses on spending rather than holding money
wﬁwwamﬁmmﬁmzﬁsW:

(1) m-ﬁ%;mww;a;mmﬁz

1 W ofF-&1 DT HY DX

) T e Tt TSR S g A R R
6 + o T 99 wd 1 W SR <
(4) q&T P O U T B I .

(4)

g
®
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Which type of tax helps in reducing disparities of income ?

(1) Proportional tax -(2) Regressive tax

(3) Progressive tax (4) None of the above
AT B fAwHEr B R FRA F P91 PR FErIAT AT & ?

(1) smguifis R (2) v AR

(3) wforefrer & (4) Sudad d1g &

If the proportionate change in demand is less than proportionate change in
price, the elasticity of demand is : -

«(1) Perfectly elastic . (2) Unit elastic

(3) Relatively elastic (4) Relatively inelastic
ﬁmﬁmﬁmmm@ﬁ@mqﬁmﬁwm
g, ar HhT @ o R

(1) i sreRR (2) $HTE AR

(3) wmera: AEgR (4) WM selrER
According to Keynes, employment depends upon ;'

(1) Aggregate demand (2) Aggregate supply
(3) Marginal Efficiency of capital (4) Effective demand
P B AR, AR ol abear 2 -

(1) & AT W (2) W ofdt W

(3) oM & WM BriewHaT W (4) wrErAEs AT 1)
Fixed cost in Economics is called :

(1) Prime cost (2) Supplementary cost
(3) Oppartunity cost (4) Real cost

A H ReR AT @Y war ey &

(1) wafE T - () & ar

(3) 3R T (4) Irdfas anrg

Name the Economist who distinguished between value in use and value in
exchange and gave the famous example of diamonds and water :

(1) David Ricardo (2) Adam Smith

(3) Karl Marx - ﬁmﬁr (4) Alfred Marshall

S el @1 M ST Ty dor g

EN Taq o7 BT TRIESaTeRy gy - o ﬁ?aahﬂaﬁaﬁm&m
(1) Sfas Rarel (2) TeH Ry

(3) wret Hrad (4) 3rembe H7efe

An industry whose long run Supply cur

(1) Increasing cost industry 2) Decreasin .
(3) Constant cost industry ((4)) Efficient h?dizs;;ndtlsny
wmmmqﬁ?m@mwﬁwmg

(1) M PSR (Q)WWBE}#%W?:
(3) Rer T e (4) = e

ve is horizontally paralig] Is called :

X0,
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12

13.

14,

The ‘crowding out effects' is zero, when :

(1) There is liquidity trap

(2) Demand for money is perfectly interest inelastic
(3) IS curve is falling

(4) None of the above

FISFET ATIC Y9Id' I BT 8, O

(1) a=efar ol &l

(2) o1 I AT qolcar @ JAATR B

(3) ST fiar gam &l

(4) Sugda 3 § g T

When the needs of the present generation are met without compromising the
needs of future generation, it is termed as :

(1) Economic Growth : (2) Economic Development

(3) Social Development (4) Sustainable Development

o Y Y 2 snaRawaR B R WEe § IR, adHE 9 @) srawdds 31
W1 T ST B, ° §9 e S €

(1) i Wl (2) anfde famrd

(3) wEIS famms (4) waa faer

The oligopoly model in which a producer assumes that his concepetitors’
output are fixed and then decides how much to produce is seenin :

(1) Cournot oligopoly model (2) Stackelberg oligopoly model

(3) Bertrand oligopoly model (4) Chamberlin oligopoly model
WWWWWWW%%WWWW
ﬁméeﬁ?ﬁwﬁﬁum%ﬁaﬁbﬂmmmmﬁwm%:

(l)mjﬁiﬁmﬁ‘cﬁrx’q‘i@aﬁ (2)qéiﬁﬂaﬁ%m®amwﬁmﬁ
(3)m$mmwmﬁ (4)%@?%3@%%6{1#
A tax imposed upon monopoly projects :

(1) Can Eot be S‘Eifted (2) Can be shifted forward

(3) Canbe shifted backward (4) None of the above
mﬁw#aﬁfﬁanﬁ'wwaﬂ:

(1) Raamar TE S WHT (2) 3 RewwEn ST wH &
(3)&@1@11?@@%% @) SHE § | PR T

.tion of Pareto optimality holds correct under :
The Cond;;) oly (2) Perfect competition-
(1) Mon (4) Imperfect competition

: \
() OUBOPE 28 Rt farrd et vl 27

R @) T wfafrar
(1) QTP 4 PIRBIIRIG
() S (%) I



15.

16.

17.

18.

19.

20.

Distribution of the burden of paying a tax is termed as :

(1) Tax capitalization (2) Sharing of tax burden

(3) Incidence of tax (4) Shifting of tax

X YTAHE S 4R & TR0 &Y Per orar & -

(1) FR Gofreror _ (2) R ¥R BT dfeT

(3) wRMUTE (4) &~ faad=

Which one of the following started use of "psycho-physical” methods ?
(1) Weber (2) Fechner (3) Titchner (4) Watson
Freforfe 3 W Ry 7y e Rl @ swar @) o @) 2

(1) IR (2) BHER (3) feaw (4) arewa

According to Young Helmholtz which one of the following is not a primary
colour ?

(1) Red (2) Blue (3) Green (4) Yellow
UT T TR B TR PR § § | sl 1 T8 L ?
(1) @re (2) e (3) = (4) drer
According to Freud Id, Ego and Super-Ego are the :

(1) Personality traits (2) Types of personality

(3) Levels of behaviour (4) Parts of personality structure
PIIE B JFAR SUTE, oFE, T WE & -

(1) <afe oo () afda & yor

(3) TER & wWR (4) @fdae axa=m & w7
Personality traits provide means of :

(1) Describing a person (2) Characterizing a person

(3) Analysing a person (4) Studying a person

At AT T Suerer e -

(1) & afe a1 3o o @ (2) TP =faq & sifrerefiarr ¢
) & afed & Rveryo 3 4) VP Ifdd & eqge &

Which of the following ma
personality ?

(1) Allport's theory (2) Sheldon's theory
(3) Eysenck's theory (4) Cattel's theory
Wﬁmﬁﬂmm%wm’ﬁmﬁﬁmﬁﬁmm

Y not be included in the category of traits theories of

P.T.o.
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22,

23.

24,

25.

26.

Which one of the following tests of intelligence includes both verbal and non-
verbal measures ?

(1) Binet-Simon's Test (2) Terman' Test

(3) Wechsler - Bellevue Scale (4) Army-Alpha Test

Frefofad § @ @ gfy wdev, Afed qen sfEs A & w3
uftaferg wvar 8 ?

(1) fa=-argwm wRieor (2) SHA BT TR

(3) ATER-ITTE, WU (4) Smf-oTemT TR
Obstructions in goal/need satisfaction causes :

(1) Frustration (2) Conflict (3) Stress (4) Anxiety
aw,/famwaq&ﬁwéwwaﬁ%:

(1) @er (2) &% (3) wedTEe (4) gRa=

Irrational fear arising from closed place is called : |
(1) Acrophobia  (2) Claustrophobia (3) Agoraphobia  (4) Mysophobia
W?Wﬁwgﬁmﬁm%mﬁmﬁ%‘:

(1) Ushropifara (2) TSREERE  (3) YIREfRE (4) A

In Bell's Adjustment Inventory which one of the following areas are not
included ?

(1) Emotional Adjustment (2) Home Adjustment

(3) Health Adjustment (4) School Adjustment _
@Hmﬁﬁﬂmqﬁﬁﬁwﬁﬁﬁﬁﬁaﬁﬂ—wmmﬁ TE e 7
(1) FaTeT® afvrsT () TE A

(3) R AT (4) fererht Jfvare

Which one of the following is not a law of perceptual organization 2

(1) Law of similarity (2) Law of contiguity

(3) Law of proximity (4) Law of continuity

e § @ B T e W a1 Frm T E ?
1) \rer & A
((3.) e B @ f 1 P
According to Bartlett memory isa:
(1) Reproductive process
Reconstructive process

(2) Image formation process
(4) Elaborative process

G)\ @@qzﬁz
e T @) SR fe ) st 2
‘_” I o 2 (4) fvara ifbar g

(8)



27.

28.

28.

30.

31.

32.

Which one of the following propounded interference theory of forgetting ?

(1) Ebbinghaas (2) Mc Geoch (3) Bartlett (4) Melton & Irwin
faero & wwew Rigra &1 afdureT FrafoRad § 9 feas far or ?

(1) sferEra 2) dgw (3) arcae 4) Feed der 3fda
Argograph primarity measures :

(1) Reactions (2) Work efficiency (3) Fatigue (4) Monotony
QIS Hood § #199 Ral &

(1) wfafsbarell &1 (2) @rf-geear &1 (3) @™ @ (4) -R\ar &1

Which one of the following suggested that thinking is a "subvocal" speech ?

(1) Osgood (2) Watson (3) Wertheimer  (4) Jacobson
frfafea # & fam gamn 5 Rt “ari-wx omor & 2
(1) seTs (2) arew  (3) TR (4) Sofea

Which one of the following theories is considered as a "Cognitive" theory of
learning ?

(1) Hull's Reinforcement theory (2) Tolman's Sign-Gestalt theory
(3) Watsons' S-R theory (4) Guthrie's Contiguity theory
Frafefaa % 1 &1 sform &1 ~\emrere Rigra 791 o @ 2

(1) & &1 JIder Rigra (2) <reda @1 \g-rRTe Rigr

(3) I BT Sews-fafea Rgra (4) TR &1 FHivar Rgra
Who said "Politics is the struggle for power"?

(1) K. W. Thompson (2) H.]. Morgenthau
(3) Kaplan (4) Garner

e e, oY W @ fye e & 7

(1) Po S=o eifrgar (2) TFo Jo T
) P (4) Tie

The object of incorporation of Directive Principles G .
of state polic
Constitution is : P policy in Indian

(1) Establishment of political democracy

(2) Establishment of social d emocracy

(3) Establishment of Gandhian democracy

(4) Establishment of social and economic democrac
Wa%ﬁ&mwﬁmﬁqwﬁm‘ﬁmﬁﬁqmmw
(1) TSFATD TSRS D R Pey : $:

P.T.0.



33.

34.

35.

36.

3.

38.

Which of the following fundamental rights is not available to foreign citizen ?
(1) Equality before law (2) Freedom of expression

(3) Right to life and personal liberty ~ (4) Right against exploitation

f1 % ¥ wi-ar e afrer fedh TmRet @1 ua 78T & ?

(1) fofr & ey QT (2) afyeafad & wcar

(3) W 9 2T s 1 AfeR @) o & favg AfEER

Who said, "Nothing short of state is the actualization of freedom” ?

{I) Hobhes (2) Hegel (3) Bentham (4) J.S. Mill
b B8l "I B o W RaeT BT Jgd TE far o wear ?

(1) zrsq (2) B (3) deA (4) Slo THo A
Which theory of right was supported by Bentham ?

(1) Natural right theory (2) Historical right theory

(3) Legal right theory (4) Moral right theory

dom gR o sfeR Rigra &1 wwelA foan T ?

(1) wipfas sftreR Rigr ) Vyee seR g

(3) B HHfABR g (4) @ FFR Rigra

Colombo proposal (1962) is related to :

(1) Indo-China border dispute

(2) Shri Lankan Tamil problem

(3) Personal dispute between India and Shri Lanka

(4) Indo-Bangladesh water dispute

Propar yeaTd (1962) TR 2

(1) wrca-dr A faare

(2) Aeid B dH THET

(3) Ha-Seier @ dr afd fdar

(4) wRg-aTERY B 49 T fae

Who of the following gives a certificate to the money bill ?
(1) Finance Minister (2) Prime Mirusier

(3) Speaker of Lok Sabha (4) Auditor and Comptroller General
ﬁmﬁﬁ:{ﬁaﬁmﬁm—ﬁéﬁ??
(1) fae w1 (2)

Which of the following constitution is flexible and evolved ?
1

e () Japan (3) Australia (4) Pakistan
() B s ok T R 87
e @ ST () A& (4) Tivar

(1) faed
(10)
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40.

41.

42,

43.

44,

FRANS LS MLliiivul v pPYailiLdl palliiGo v lIT DLIULEL ViUl -

(1) Lord Bryce (2) Laski (3) Burke (4) Lowell

fra o ife <t @1 “fRERt @1 gemer oRafa fvar & 2
1) o< g (2) @ (3) B (4) @rae

In parliamentary government the executive is responsible for its function and

policies towards :

(1) Legislature (2) Judiciary

3) Speaker of Lok Sabha (4) Head of the State
W WRHR H rRiIfereT a 1 gt Nl & fory Sorerd # ¢
(1) fAenfisr (2) =arauiferaT

(3) NwwT 3reger (4) rogTeger

The aim of Plato's communism is :

(1) Economic equality (2) Social justice

(3) Unity of the State (4) Freedom of women
QIS & |G BT Seed ®

(1) nfde waHEar (2) amiTes =y

(3) 5T B YAl (4) wfeams & d=ar

In Presidential form of Government, Ministers are responsible towards :

(1) President (2) People

(3) Upper House of the legislature (4) Supreme Court
I AR gomedt # 7= frvd ufy werarh B & 2

(1) wrgafa (2) e

(3) e & Sea e (4) wdtea =marera

Panchayati Raj System was based on the recommendations of :
(1) Balawant Rai Mehta Committee (2) Sarkaria Commission

(3) Planning Commission (4) Ashok Mehta Committee
UEIIA RIS ERAT WY WY g o

(1) Fera=r ¥ #ear wfifq (2) RPIRAT ST

(3) AT ST (4) I Fgar Wiy

The Macdonald Award provided :
(1) Safeguard to minorities

(2) Separate representation to Sikhs and the Christiang
(3) Weightage to the Muslimg

(4) Separate representation to Depressed Classes

(11)

P.T.O.



45.

46.

47.

48.

49.

(1) ITAGSD] B GRem FHad

) faaal va Al & srer wfafafda
(3) e B AR

4) =foa o s wfafafo

Who of the following for the first time presented the proposal of proportional

representation system in British Parliament ?

(1) Jermy Bentham (2) Churchil
(3) Tl_10mas Hare (4) Edmund Burke
= 3§ ¥ e uge IR fafew wug & smguifae ufafAfee gomelt o1 wdma g
o ?
(1) ot dom (2) 3
(3) 9T B; (4) TeHUS B
'Sharda Act' is related with whom ?
(1) Sati Pratha (2) Prostitution
(3) Widow Remarriage ¢ (4) Child Marriage
oReT SffRer e wrafd € ?
(1) = g ' (2) aegrgfty
(3) fawrar gAfdars (4) e faare
Which one is the example of ascribed status ?
(1) Professor (2) Doctor (3) Kayastha (4) Peon
ye yRefy @1 Freifed ¥ ¥ B TP ISR € 7
(1) 9IBwR (2) efdex (3) BT @ ORI
"Mitakshara' and '‘Dayabhaga’ is related to :
(1) Succession (2) Marriage (3) Sanskara (4) Ashram
fyameRT SR GEATT @ Y T 7
(1) SRvaR & (2) faaE A (3) PR A (4) I |
Which one of the following pair is incorrect?
(1) Restriction on Sati - RajaRam Mohan' Roy
(2) Bhoodan - Mahatma Gandhi
(3) Restriction on Child Marriage - Har Vilas Sharda -
(4) Arya Samaj - Dayanand Saraswatl
g § § BT T g W TR ? )
o _  <roT XA
(1) S e "
() &H - WEGRAM
(4) 3T A -

(12)
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52.

53.

54,

FVLLLLL VLI UL IR VLIV L, 15 UL a Cdallse O rural n‘ugration £

(1) Unemployment

(2) Attraction of City

(3) Negligence of Agriculture

(4) Maximum Opportunity of employment in village
fr=ifha & & B TE T ggere @1 dRor T8 R 2
(1) ISR

(2) TR BT IMHYU[

(3) P H Ienr

(4) T F AR & T9RE srqeR

Role is an example of :

(1) Duty and Obligation (2) Equality of status
(3) Ascribed status (4) Achieved status
AT Uh ISTEVT § -

(1) &t 3R i @ (2) gRIfT & THrET B
(3) wad gRefy @i (4) it wRefy
Which one of the following is 5ot a consequence of industrialization ?
(1) Joint family (2) Slums

(3) Tolerance (4) Class consciousness
ﬁmﬁrﬁgr—r TR B O St 57 R T8l & ?

(1) ¥ uRaw (2) #fer e

(3) wfewrar 4) 7 Ao

Which of the following is not a ch; racteristic of modernity ?

(1) Value of time (2) Rationality

(3) Restriction on nterdinnin. ‘

_ ‘ g (4) Social and politica] ayy;
ﬁﬁ%ﬁ?ﬁﬁﬁaﬁ?mﬁm?ﬁqmm iy awareness
(1) 99 o dmg (2) Trf¥ear

(3) WH-UH W yfygwg (4) T ok —_

Which one is not the charactericy; . .-
Cteristic of Ruraj Communfty ?

(1) Caste system ©) Jabmon
(3) Agricultural system 2 JMani system
° (4) Formgj relationg

m-ﬁwwmﬂmaﬁ% T & ?
(1) <ifq wagzen 2) S

Fqver
\e! P (4) aﬁwﬂ%m
(13)

PTo



55. Which one of the following is associated with a definite geographical area ?
(1) Social structure (2) Social system  (3) Family (4) Community
Prifra 3 & P16 PRTd e & ¥ wEg g @ ?
(1) IS TRET (2) ArHITe Favel (3) gRar (4) wHET
56. Power to include or exclude a caste from the schedule has been given under our
constitution to :
(1) President (2) State Governor (3) State legislature (4) Parliament
mﬁﬁﬁwﬁ%@aﬁﬁaﬁﬁmmwﬁﬁmﬁaﬁaﬁﬁﬁ%ﬁ%:
(1) <rgafa (2)mzﬁwma(3)wﬁmﬂﬂ (4) §Eg
57. Which one of the following is not a characteristic of primitive religion ?
(1) Totem (2) Ancestor worship (3) Taboo (4) Temple
Pretifd 3 @ P o e o Rt et e ?
(1) <R (2) = I () (4) 7R
58. In order to provide pensions to workers of the following schemes has been
launched by the Government :
(1) Swabhiman (2) Swavalamban (3) Swadhar (4) Adhaar
PR AR 3 B IRPR ERT A1 B T, iR B Ye & el AT
g
(1) (2) wdrdefr (3) wWmER (4) MR
99. At present India is world's biggest exporter of which among the following
commodities ? )
(a) Tea (b) Coffee . (c) Sugar (d) Guargum
Choose the correct option fromthié codes given below :
(1) Only (a) (2) 82? Eg))& (c)
3) Only () & (d) 4) y | 5
“ EIEl (d) TR
(a) T (b) B! (©) |
ot T g€ @ T T () daal@) T ()
(1) de @ ) 9 (d)
® mm@(d) inted on:
; committee Was APPULLRRS: oo
0. Narasl an o reforms (2) Industrial reforms

(4) Banking reforms

) nsural T:‘E;rgs-
(2) SEFE TR W
g o ) 3T R R

w
- (14)



61.

62.

63.

64.

65.

66.

67.

Which is the most sacred river of Rigvedic Period ?

(1) Ganga (2) Yamuna (3) Kaveri (4) Saraswati
FrAfRd B B T YfAH T P-4 8 7

(1) T (2) g (3) T (4)
Where is ancient Buddhist stupa situated ?

(1) Sanchi (2) Amravati

(3) Sarnath (4) Nagarjunkonda

FIY T WU Fel R ® 7 |

(1) @ (2) rFRTaH

(3) AR (4) ATTSFBIOST

King Ashoka belonged to which dynasty ?

g; Issflaurya Dynasty (2) Gupta Dynasty

unga Dynas

o ﬁsﬁaga f];w}’fl_\.ng SRk o (4) Satavahana Dynasty

(1) A <roic (2) T T

() T ISEw (4) TCATE <TOTaer

Which Chinese pilgrim came to the court of Chandragupta II ?

(1) HiunTsang  (2) Itsing (3) Fahien (4) Alberuni
T 11 & AR ¥ 359 A ard sy on 2
(1) @ (2) sfedm - (3) wrEm (4) srFEEN
Where is the Lingaraja temple is situated ?

(1) Bhuql}:lss%a%;) %P;n (3) Chennai (4) Tirupati
(1) qTmR 2) 5@ (3) =a=T§ @) freuR

When the East Tikin Company came into existence, England was ruled by the -

(1) Hanovarians  (2) Stuarts (3) N
Wﬁmmwmmwmﬁﬁ:?%mmﬂﬁ) .
(1) eRRYw (2) werdw (3) i (4) Tyen
When Subhash Chandra Bose resigned as the Pres ‘
appointed in his place? resignec as the President of INC, who Was
(1) Rajendra Prasad (2) Abul Kala
(3) C. Rajagopalachari (4) Pattabhi Si‘;;:za.d
T4 G T AN INC B Sy 7 & TRy oy e
P g ? T R foe
(1) o= (2) 99T B Sy
(3) Alo SCUIBICIEI (4) EEC ARy &
(15)



68. Who is the author of the book ‘Hindu Way of Life’ ?

(1) Maulana Abul Kalam Azad (2) Jawaharlal Nehru
(3) Dr.S. Radhakrishnan (4) Aurobindo Ghosh
1875 @ 3% g [ad d odd B E 7
(1) HISmaT 3ged Hem siToTe (2) AR Tl AEw
(3) Sfo Yo TETHT (4) eRfa= =@
69. Who established the Satyagraha Ashram ?
(1) Mahatma Gandhi (2) Acharya Kriplani
(3) Loknayak Jayaprakash Narayan  (4) Acharya Vinoba Bhave
TS 3 1 ey venfaa fan ?
(1) HEreT T (2) mard HuATH
(3) AFHATS FTIAYDTI ARTI0] (4) amard famrer w1d
70.  The wrongly paired match among the following is :
(1) Mahatma Gandhi - Dandi March
(2) Mohammad Ali Jinnah - Khilafat Movement
(3) Sir Syed Ahmed Khan - Aligarh Muslim University
(4) Subhash Chandra Bose - Forward Block
ot 3 @ Trera ST BT 8 ?
(1) weTeH ey - g
(2) Heme el fA ~  fgcHd e
(3) T I IEHE T - oreig gRe fereafaremera
(4) oy s A = PR
71.  Who was the first Indian woman to feature in a postal stamp 7
(1) Ahilya Bai (2) Kash.’lr‘f)a Qandh:
: (4) Sarojini Naidu
(3) Meera Bat o
mwmm@uq%wa%wﬂmﬁwwﬁiwg-
2) el T
(1) SfEemr @
(4) TR TG
©) odern university in India ?
: the first ™ university r
72. Which was verity 2) Defl'“ University

(1) Madras Uni (4) Bombay University

s 2rsit
®) Ca"C::: i?:qz:ﬁ);aﬁm Fr-ar o] ?
ARA T T (2) ﬁ?c‘ﬂ fazafeencra
(1) Wﬁw TR (4) @ favafderay
3) ‘

(16)



73. The first day of the Saka era based national calendar falls on which date ?

74.

75;

76.

(1) 23 March (2) 21 March (3) 22 March (4) 24 March
A IR IMRT AT doiver o1 wga A 5w ffy @1 gear @ 2
(1) 23 #rd (2) 21 5rd (3) 22 #rd (4) 24 wrd

Which of the following statements are true of the Congress Socialist Party ?
A. It was a forum for various kinds of socialists in India.

B. It was a rival organization of Indian National Congress.

C. Tt championed the cause of the workers and peasants.

(1) AandB 2) A,BandC  (3) AandC (4) BandC
A AR uel B e § F Br-ar vud wa d 2

A. Wﬁﬁmﬂmiﬁmﬁﬁﬁrwwqﬁwm‘

B. 7 R Wity whw P wRgg) W o |

C. WA Ud ot & sRo e o

(1) ATB (2) A,BTEC (3) ATEC (4) BUEC
Which of the following statements is correct about the Satyagraha Movement ?
(1) It was started by Mahatma Gandhi.

(2) Its object was to offerpeaceful resistance to cruel and unjust laws.

(3) Sunday, the 6 April, 1919 was observed as Satyagraha Day and there was
an all India hartal.

(4) All the above St'ﬁk‘mentﬁ are correct.
WW%WﬁM&aﬁaﬁa—wwwﬁ%?
(1) D! YoM HRTH My ey gl

(4) mwﬁmmmm

Dreadfulv disaster of Methyl Isocyanate leakage occurred at :
(1) Delhi (2) Bhopal (3) Chasnala 4) Ah
ﬁmammﬁeﬁmaﬁwmﬂﬁﬁgéaﬂ: e

(1) faeeh ¥ (2) wme (3) =rFTET A (4) srEwemare
Dr. Medha Patekar ig deeply associated with : *
(1) Save Ganga Movement (2) Doon Valley Mo

(3) Save Narmada Movemen; @ SilentVaHey i Vement

Gﬁoﬁmqﬁfmaﬁmmﬁ@%: Vement
(1) 77 gl =T

(2) g7 ) 3Tty
@) vt Foh e (4,3%?1735‘”?7;#

PTo



79. The pos§ibility of occurrence of petroleum is largest in :
(1) Sedimentary rocks (2) Igneous rocks
(3) Metamorphic rocks (4) Inall these
Igiferm Wiy A Wy sty e €
RN (@) s e
(3) warafea dt 4 (@) T
80. The outermost layer of the atmosphere is :
(1) T roposphere  (2) Stratosphere  (3) Mesosphere (4) Exosphere
E(TJ%'F! P! HEN SO A B
) @SS () wEaEATSd - (3) TEEHS 4) ITFTTHISH
81. The plant eating animals are known as :
(1) Herbivores (2) Carnivores (3) Omnivores (4) None of these
i WA arel Sl @Y HEl I 8 -
(1) daRE (2) FIffaRE (3) R () T PR
82, Asper 2011 census the population of India is approximately :
(1) 1200 million (2) 1220 million (3) 1210 million  (4) 1250 million
2011aﬁ_amwm$aaﬂﬂﬂwaa%mﬂw%w:
1) 1200 faferm () 100 Rt (3) 1210 AR () 1250 faferg=
83. Which region of India has large possibilities of hydro-power genera tion ?
(1) Northern region (2) South-east region
(3) North-east region - - 3%4)E[§outh-wes't %e%ion
e @ fow & H e Sl ) R €
SR & @) <Ro-gd &
) afed &
0) Gﬂ'\’{fﬁ &3 (4) Tferor-
. 1 Park of Indiais famous for :
84. Kanhg ﬁatwna ) Tige: (3) Deer (4) Elephant
(1) Lio . o R
CARS) '
PN L b o) femd R (@) TP R
. Bailadilais famous for mining of : _
% 1 Manganesé (2) Ba.qute
(1) (4) Mica
@) Ironore_
“ﬁ‘;q x (2) dfeTEC WA 2q
1 W ¥ @) agd G
(1) G G v
) o (18)

'(li)aril U'e;y' In the worla 1s celebratea on .
o ﬁ_p% _— H;ZM?T J;I;Tnl%ﬁ (3) June5 (4) March 22
(1) 738 B (2) 223 B (3) 55 @I (4) 2298 3



87.

88.

89.

90.

a1.

92.

NMLAUIC Id yEL €XIS5T5 1IN S

(1) Troposphere (2) Stratosphere  (3) Mesosphere (4) Thermosphere

S R Rerg 2

(1) erwsa A (2) wHaTHed ¥ (3) meuHed W (4) qmgHSH H

‘Indian Institute of Forest Management" is located at -

(1) Dehradun (2) Bhopal (3) Shimla (4) Lucknow

"R a7 g deerr Rerg & -

(1) <evrg i (2) “rarer & 3) e § (4) TETS

“Valley of flowers" in India is located in :

(1) Kumaun region (2) Kashmir valley
(3) Garhwal region (4) Kulu valley
RT # mell @t arel” R R
(1) &g & 3 (2) IR TS §
(3) TgareT &3 § (4) T =1 F
Which pollutant is responsible for acid rains ?
(1) Ozone (2) Methane
(3) Hydrogen (4) Sulphur dioxide
i a9t B Y B yqwe sevar) & 2
(1) = ) fads
(3) EEZrA (4) HomR ersdiaarge
Mangrove is found :
(1) Along sea coast (2) Within sea
(3) Ininterior of continents (4) On mountains
O ITAY (Hga) ord oy 3
(1) 395 @ foor 2) 98 B HrwR
(3) 7EE & R 9 (4) uvgTsf W}
Zebra is found in :
(1) Taiga (2) Tundra 3) Savana iri
Q cnu? . ot (3) (4) Prairie
(1) 2m % (2) TT (3) W (4) e 3
Largest concentration of Population in the world is found in :
(1) East Asia (2) South-East Asia
(3) West Europe (4) South-West Asia
fava % ST @1 gaife qEgor gy e &
(1) o vfrm % (2) =g ofiey ¥
(3) uferdt R ¥ (4) <Rrr-ofey ofny
(19)

P.T.0.



94.

95.

96.

97.

FREW WL LU U A STV S W R RRRE R 0 I romeem i SR

the world ?

(1) Europe (2) North America

(3) Africa (4) South America
mﬂﬁgﬁzﬁﬁwﬁﬁ?ﬁuwﬁmwﬁﬂm%?

(1) T @) ST RS

(3) 3hieT 4) afereft spRa

In India minimum population density for town is considered as :
(1) 250 persons per km” (2) 400 persons per km?®
(3) 500 persons per km’ (4) 1000 persons per km’
W § T @ g <A SR O A T E

(1) 250 =faa ufy @t fed (2) 400 =fdm wfy @t fed
(3) 500 afr ufy @t fd (4) 1000 @ Ry @7 fa

As per report of United Nations Development Programiie (2011) the position
of India in Human Development Index is :

(1) 126 (2) 127 (3) 130 (4) 134
SECUIREAE fromr @ (2011) @ RO & FTER CTRT BT qa e
TGS H UM B )

(1) 126d (2) 127di (3) 130dt (4) 134d1

Which one of the following decades has recorded the lowest population growth
rate in India ?

Wﬁ‘aﬁ%ﬂg%—ﬁ%aﬁﬁaﬂ%aﬁﬂi%?

(1) 1971-81 (2) 1981-91 (3) 1991-2001 (4) 2001-11

The third stage of demographic transition is characterized by

(1) High birth and death rates

2) High birth rates and declining death rates

(3) Low birth and death rates
(4) Declining birth rates and low death rates

e T A i s B e &
(1) 9o o9 W@ TR
(o) 5 I T T TN



i

99.

100.

101.

102.

PR DL E lIollowing institutions has been notified as the academic authority
for teachers' qualification ?

(1) NCERT (2) NCTE (3) SCERT (4) CBSE |
Fefoe wameet ¥ ¥ - fwt & g 3 fo WWe RS @ v #
sfergfa far mar & 2

() FWHIIRA Q wmhHaAs (3 WHNEIREA @) g

The first complete census was held in India in :

1) 1872 (2) 1881 (3) 1891 (4) 1901
HIRA ¥ ugell qof Sirorr g of - B -
(1) 1872 # (2) 1881 # (3) 1891 % (4) 1901 ¥

What is the correct sequence of the following ?
A. Khilafat Movement

B.  Minto-Morley Reforms

C. Boycott of Simon Commission

(1) A,B,C (2) B,A,C (3)B,C, A (4) C,B,A
Frfelaa &1 w&t mg @ @ 2

A. Reenwa arrer

B. fivelsfl qur

C. W i &7 afReR

(1) A,B,C (2) B,A,C () B,C, A @) C.BA
The leader of the Young Bengal Movement was :

(1) Dwarkanath Tagore (2) Chandrashekhar Deb

(3) I'shwar Chandra Vidyasagar (4) Henry Vivian Derozio

AT T =] BT ay o -

(1) gram M (2) T=9RER 2

() R T Remrr (4) &% R Ry
Morley-Minto Reforms aime( 3t -

(1) Great of Dominion statyg to Indians
(2) Separate electorates for the Muslims

(3) Special powers to the Government to deal with anti-Gg
(%) Full development of education T peneleen 2

HIct-fAveT GuR 1 Sy o -

P.T.0



103. Ductiess glands are kKnown as :
(1) Exocrine glands
(3) Tubular glands

(2) Endocrine glands
(4) Alveolar glands

Afeefad (sacar) fort wEaTd B
(1) TawpTE R () grormTEa AR
(3) TR Tt (4) gfeaaier T
104. A camel adapts easily in a desert due to:
(1) Hump with stored food as fats
(2) Water cells in stomach to store metabolic water
(3) Pads beneath two digits and hair growth near eyes and nostrils
(4) RBC'sare nucleated
w”m%ﬁwmﬁmﬁﬁﬂmwm%wmﬁﬁzﬁw%?
(1) @ag ¥ a9 & &Y A Fufed Ao
(2) ﬁe@%ﬁaﬁaﬁwﬁmﬁ%ﬁmﬁtﬁmﬁa
3) %ﬁWﬂ%ﬁEE%ﬂ@@sﬁﬁaﬂ?wﬁwmﬁ&ﬁqﬁé
(4) T Tad PIRMBIY Yderycs g
105. Cancer is also shown to be enhanced by :
(1) Components of the human diet (2) Certain viruses
(3) Hereditary predisposition (4) Allof the above
HEX BT GG H AR ¥
(1) ¥ AER & U (2) Ff¥ad TR
(3) FATFIE TSI (4) T | WA
106. Acquired Immune-Deficiency Syndrome (AIDS) is caused by :
(1) Bacterium (2) Pfotozoa
(3) Fungus (4) Virus
e 3R R Rigi (TS e 2
(1) dRRTA & FRA (2) Wi ® IR
(3) BT & BRI (4) TERE D DR
ity of brain is recorded by:
107 a(;ng&o - (2) EEG (3) MET 4) CT
AR T B T
T’éﬁm QiiRgm @ WA () AT
. . litres of water.
. i 06 kg, consists ofapproxxmately .......... -
108. A man \fvexghmg‘) é) s (3) 82 litres (4) 42 litres
M) SUME;S F AT coveneene drex o o &
96 7 @ sesd= (@) B (4) 42 R
(1) N



109.

110.

111.

112.

113.

114,

A food chain consists of a :

(1) Produceronly (2) Consumer only

(3) Producer and consumer (4) Decomposer only

Qe T e §

(1) Paet ASqER & (2) BT FOPR ¥

(3) AT AR FogR @ (4) BT SR A

Abatis:

(1) A mammal (2) A reptile (3) Anamphibian (4) Anavian
THMES &

(1) W& WTU—  (2) v WYY (3) U@ SWE () TP v

A and B are brothers. C and D are sisters. A's son is D's brother. How is B
related to C ? _
(1) Father (2) Brother (3) Grandfather (4) Uncle

AWBW?IC@?DH‘&"?%IAWWDWH@%IBWC%MW
32

(1)' foem 2) wrE 3) farmeE (4) gran

A party consists of grandmother, father, mother, four sons and their wives and

one son and two daughters to each of the sons. How many females are their in
all ?

wmﬁﬁmﬂmmmmwmwwammwm
waaswﬂﬁ%a%;aﬁ@aww%?

(1) 14 () 16 (3) 18 4) 20

Mohan introduces Sohan as the son of the only brother of his father's wife, How
is Sohan related to Mohan ?

(1) Son (2) Cousin (3) Uncle (4) Brother

%Wwﬁu%ﬁmﬁwﬁ%qﬁﬁ#ﬁ%ﬁ%mﬁwmmﬂ
frer wer Are & weftrr & 7

(1) 9= (2) = (3) =mam (4) s

Life is related to Death in the same way Hope is related to :

(1) Sad (2) Despair (3) Pain (4) Cry
e Heferd &g R B 3T HeRg & -

(1) %9 9 (2) Tng @) @y
(23)

4) g7 g

P.T.0.



115.

116.

117,

118.

119.

120.

Which of the following numeral pairs which is different from others ?
Prerfoiact ST i § Pr-ar o & Bt @ 2

(1) 83-75 (2) 58-50 (3) 49-42 (4) 25-17

Which number would replace question mark in the series 7,12, 19,7, 39 ?

goft 7,12,19,2,39 ¥ - T ye qad fUgd &1 @A ot ?

(1) 29 (2) 28 (3) 26 (4) 24

In a certain code, SIKKIM is written as THLJJL. How is TRAINING written in
that code ?

(1) UQBHOHOF | (2) SQBHOHOH

(3) UQBJOHHO (4) UQBJOHOH

feefl e # SIKKIM &1 forar ol @ THLJJL. $¥ @¢ # TRAINING 1 &
R foran smar @ ?

(1) UQBHOHOF (2) SQBHOHOH
(3) UQBJOHHO (4) UQBJOHOH

Which of the following statements is incorrect ?

B ol § R P agE S ?

7
M 2-2 ® -3 @215 @ =5
Enginner is related to Machine in the same way Doctor is related to:
(1) Hospital (2) Body
(3) Disease (4) Medicine
aﬁdﬁiﬁd@ﬁ%qﬁﬂﬁ,ﬁ@ﬁmmﬂﬁ%:
(1) eRaed ¥ (2) MR ¥
(3) @y & (4) =

Which is the number that comes next in the following sequence ?

ﬁm.@m%ﬁmwﬁmmmm%?
4,6,12,14,28,30, (.-

(1) 32 (2) 60 (3) 62 4) 64

(24)



SECTION - 1II
LANGUAGE : ENGLISH
(For Candidates Opting English Language)
Note: Four alternatives are given as possible answers to each question. Give the correct
choice as an answer.

Question Nos. 121-124 : Select the word nearest in meaning to the given word :

121. Foray:

(1) Incursion (2) Contest (3) Ranger (4) Institution
122.  Veracity :

(1) Tenacity (2) Wisdom (3) Truthfulness (4) Reliability
123, Arid: '

(I) Unproductive (2) Useless (3) Withering (4) Dry
124.  Garrulity : |

(1) Credulity (2) Sensibility

(3) Loquaciousness (4) Speciousness

Question Nos. 125-128 : Choose the word opposite in meaning to the given word :

125. Pernicious :

(1) Innocuous  (2) Healthy (3) Hygienic (4) Fine
126. Indignation :

(1) Anger (2) Displeasure  (3) Orderliness (4) Happiness
127. Radical :

(1) Narrow (2) Qutmoded (3) - Conservative

(4) Childish
128. Superficial :

(1) Sufficient (2) Profound (3) Excessive

Question Nos. 129-132 :
of words :

4) Wide

Select the word which can be substituteg

I the 8iven group
129. Detailed plarrfor a ]oumey ;
(1) Travelogue  (2) Travelkit (3) Sched,

(4) 1.
( 25) tInerary

P.To,



130. Perceptible to the ear :

(1) Audible (2) Loudable (3) Praiseable (4) Adorable
131. The part of a government which is concerned with making of rules :
(1) Court (2) Tribunal (3) Bar (4) Legislature
132. Concluding part of a literary work :
(1) Prologue (2) Epilogue (3) Dialogue (4) Monologue
Question Nos. 133-136 : Fill in the blanks with the correct word :
133. Fate smiles .................. those who untiringly grapple with stark realities of
life.
(1) with (2) over (3) on (4) round
134. My friend says that he takes tea because it is the DeSt .....cooooovree in the
world.
(1) solution (2) fluid (3) liquid (4) beverage
135. She pulled a long ...oooooveneenes when she was told that she could not go 1o
Agra.
(1) mouth (2) skirt (3) face (4) hand

136. A person who readily .......ocooiene whatever is said to him is called credulous.

(1) accepts (2) believes (3) rejects (4) targets
Question Nos 137-140 Fill in the blanks with the correct preposition :
uesti :

asant refused to fall ..o, the feet of his master.

137. Thepe
g (2) about (3) upon (4) at
(1) on
..... him altogether.
1o have broken ...c.........
138. You Séi:‘ C _— it @
(1) w
boys
‘ o MANGOE o three
139. D.l\'\de t\'\rel" (3 fiag (3) between (4) am(_)ng
('l) 10 mmer“embers —_— ght ................. an intcrcstmg qufesn(m'
A0 One of the COT ) in (3) forward 4) out
A40.
(1) uP

(26)
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Question Nos. 141-144 : Fill in the blanks with the correct option :

141. Sheis.................. undergraduate.
(1) a (2) an (3) the (4) none of these
2. A, thief was caught last night.
(1) popular (2) famous (3) notorious (4) graceful
L R letter from my friend before the fifteenth of this month.
(1) expect (2) am expecting
(3) have been expecting (4) have expected
144. Inwhich newspaper ....... . ?
() the advertisement appeared (2) did the advertisement appear

(3) the advertisements was appeared  (4) did the advertisement appeared

Question Nos. 145-146 : Choose the misspelled word from each group given below :

145. (1) Detergent (2) Determinant (3) Deminous (4) Deterrent

146. (1) Plebean (2) Plateay (3) Pledge (4) Pilferages

sentences :

147.  Each man may try twice,
(1) Pronoun (2) Adjective (3) Determiner

148. Atlast heis free of her.

(4) Adverp

(1) Noun (2) Adjective (3) Determiner (4) Adverb

Question Nos. 149.150 - Identify the part having an error .
149. (1) Ihave read very arefu]]y

(3) and I have just glanceg through the
150. (1) Randhir as well as

(3) were invited (4)



WA TWTT W e 0T

SECTION - 1i
gvs -l

oy : =Y
i . ”_E”a“mﬁ(l), (2), (3) Tn @)Wfﬁﬁﬁ-ﬁﬁaﬁﬁﬁiwﬁﬁ@g
Wﬁﬁg@aﬂ@%-lwwﬁwﬁqﬁql

151, oW A faf @1 faera fba wd 7 gan 7

(1) =i ad (2) @redt | (3) aedi Wl (4) 8w
152, angﬁasmﬂ’maﬁ-waﬁmﬁmﬁwwﬁgm?

(1) 3o (2) WP (3) W (4) e
153. < g AW # X aRd A 7

(1) e 2) g (3) ForTl (4) @S arelt
154, 3@ U< wafE A -

(1) |m=ar (2) | (3) Ruiscd (4) G=dl

155. g@'wmauﬂaﬁm:

(1) I (2) goaa (3) get (4) oI

156. mmwﬂﬂﬁmaﬁﬂw%?
(1) Sq + (2) 9% + T (3) 5 + 7@ (4)W+.w

157. 'WRIE o7 w8 fR-faes g -

(1)’Eﬂ+eﬂﬁ (2)\'-7'\’+3R?1 (3) W + I (1) W + I
158. 'aﬁfﬂaﬁaémﬂ%?ﬁmﬁ‘?ﬂuﬁaﬁwm?
(1) sirad (2) faRre (3) T @) @@
' qafg 7€ ?
ﬁgﬁmﬁ%aﬁﬁmmm e Bl
- (1) == (2) T (3) 3 (4) wfaar
?
: - T WWWW T E
e ﬁﬂ;jq (2) T (3) fRrawt (4) T BT 7
1)



161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

171.

172.

10U/104/13(Set-l)

N B W A B R e Wl e @ 2

(1) =rear C () ®erar (3) wrRg (4) wrig
'mm%ﬁdmmﬁmWEﬁWW: |

(1) e 2 ew ) W (4) et
BT W BT WA e gy & ?

(1) &< Q) Im (3) TorEr (4) 5=
i o 71 v feim 9ufie @ -

(1) RRfrs (2) srfafy (3) forder (4) RS
%ﬁﬁwﬁﬁ'aﬁ“mﬂaaa&w??

(1) 3mn 2 STA s (3) WRf SR (4) PR
WA P SR g g 2

(1) w7 (2) wm 3) = 4)

WW#WWWEH}H-W%W%?
(1) 3uTET Tegey (2) 57 gy (3) v Ty (4) W gy
'ﬁwﬁaﬁﬂ-mwmﬁgaﬁ%?

(1) ey (2) TRy 3) (4) g
BT, BT AT BT TER BT 0 apef a2 2
(1) AR 3™ & ot &y (2) & & I Fey
(3) faddwdm = (4) fager g
ﬁawaammmwﬁm?wﬁaa%m:
(1) SRR e (2) TSR BHY (3) arare &y (a) PENT 2
Hmfaﬂwmmﬂwamahﬂ?
(1) ®aR 2 |
wWww-%ﬁwermg?
(1) ' @) ‘ GEAR

gfeeiT whfofT (3) TgEBRdT @ _

(29)
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173.

174.

175.

176.

177.

178.

179.

180.

WO LW e RS

i T w2 e @ e et FRET B aren 9 B E 7

(1) @@ (2) IRE (3) fagmgor (4) faafaa
oS Emmwmmwmwaﬁm?

(1) gowred ) g (3) goue (4) Uy
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